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=, HEREFREER Gt 4 8, 878 8 4, it 32 4
1.
#include <iostream>
using namespace std;
int main ()
{
int i, n, m, ans;
cin >> n >> m;
i = n;
ans = 0;
while (i <= m)
{
ans += 1i;
i++;
}
cout << ans << endl;

return O;

BIN: 10 20
i .

2.

#include <iostream>
#include <string>
using namespace std;
int main ()

{

string map = "22233344455566677778889999";

string tel;
int 1i;
cin >> tel;
for(i = 0; 1 < tel.length(); i++)
if((tel[i] >= '0') && (telli] <= '9"))
cout << tel[i]:
else 1f((tel[i] >= 'A'") && (tel[i] <
cout << mapl[tel[i] - 'A'];
cout << endl;

return 0;
}
fiN: CCF-NOIP-2011
it <
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#include <iostream>
#include <cstring>

using namespace std;

const int SIZE = 100;

int main ()
{

int n, i, sum, x, a[SIZE];

cin >> n;
memset (a, 0, sizeof(a));
for(i = 1; i <= n; 1i++)
{

cin >> x;

a[x]++;

sum = 0;
while(sum < (n / 2 + 1))
{
i++;
sum += al[i];
}
cout << i << endl;

return 0;

A
11
45664332321

Hh -

CCF NOIP2011 #1%%
L rH C++ 5




4\
#include <iostream>

using namespace std;

int solve(int n, int m)
{

int i, sum;

if (m == 1)
return 1;

sum = 0;

for (1 = 1; i < n; 1i++)
sum += solve(i, m - 1);

return sum;

int main ()

{

int n, m;

cin>>n>>m;
cout<<solve (n, m)<<endl;

return O;

HiN: 7 4
i

., 2285 (5 11 =, 8% 2 45, 5 2 =&, 8% 3 4, £t 28 40
1. CFEERR) fIAN— nl*ml MIHERE a, Ml n2*m2 [MAERE b, A a B THEREM b
TS EHAATE, WA THMEA EARAYR; HEAFERIE “There is no answer”s

#include <iostream>

using namespace std;

const int SIZE = 50;
int nl, ml, n2, m2, a[SIZE][SIZE], b[SIZE][SIZE];

int main ()

{
int i, 3, k1, k2;
bool good, haveAns;
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cin >> nl >> ml;
for(i = 1; i <= nl; i++)
for(j = 1; jJ <= ml; j++)
cin >> ali]ll[]j];
cin >> n2 >> m2;
for(i = 1; i <= n2; i++)
for(j = 1; jJ <= m2; j++)

® ;

haveAns = false;
for(i = 1; i <= nl - n2 + 1; i++)

for(j = 1; 3 <= @ ; ++)
{
O
for(kl = 1; k1 <= n2; kl++)
for(k2 = 1; k2 <= @  ; k2++)
{
if(ali + k1 - 11[F + k2 - 1] !'= b[k1][k2])

good = false;
}
if (good)
{

cout << 1 << ' " << J << endl;

® ;

if (!haveAns)
cout << "There is no answer" << endl;

return O;

2 (CREBEIFT) WAN—DIEBE n (1<n<10190), R /B E e 1F 5 R EEEGH

Ir

#include <iostream>
#include <string>

using namespace std;

const int SIZE = 200;
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struct hugeint

{
int len,

}s

/B len ToORKBEWILIE; num[1] TP num[2] w47,

hugeint times (hugeint a,

//IHRREER a M b KR

{
int i, 3;

hugeint ans;

num[SIZE];

LA HE

hugeint b)

memset (ans.num, 0, sizeof (ans.num));
for(i = 1; 1 <= a.len; i++)
for(j = 1; j <= b.len; j++)
@ += a.num[i] * b.num[j];
for(i = 1; i <= a.len + b.len; i++)
{
ans.num[i + 1] += ans.num[i] / 10;
@ ;
}
if (ans.numfa.len + b.len] > 0)
ans.len = a.len + b.len;
else
ans.len = a.len + b.len - 1;
return ans;
}
hugeint add(hugeint a, hugeint b)

J/PERIEE a A b [
{
int 1i;

hugeint ans;
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memset (ans.num, 0, siz

if(a.len > b.len)

eof (ans.num)) ;

ans.len = a.len;
else
ans.len = b.len;
for(i = 1; i <= ans.len; i++)
{
ans.numf[i] += ® ;
ans.num[i + 1] += ans.num[i] / 10;
ans.num[i] %= 10;
}
if (ans.numf[ans.len + 1] > 0)
ans.len++;
return ans;
}
hugeint average (hugeint a, hugeint b)
/PR a A b BP9 8 B EG 4
{
int i;
hugeint ans;
ans = add(a, b);
for(i = ans.len; i >= 2; i--)
{
ans.num[i - 1] += ( @ ) *
ans.num[i] /= 2;
}
ans.num[l] /= 2;

if (ans.numf[ans.len] ==

ans.len--;

return ans;

hugeint plustwo (hugeint

)
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//HEREE a2 JEEER
{
int 1i;

hugeint ans;

ans = a;
ans.num([1] += 2;
i=1;

while((i <= ans.len)

{

ans.num[i + 1]

&&

+= ans.num[1i]

(ans.num[i] >= 10))

/ 10;

if (ans.numf[ans.len + 1] > 0)
® ;
return ans;
}
bool over (hugeint a, hugeint b)

/4 RKEEH a>b WERIE] true,
{

int 1i;

if( ® )

return false;

if(a.len > b.len)

return true;
for(i = a.len;
{

if(a.num[i]

return false;

if(a.num[i]

return true;

i >= 1;

HIMERF] false

i--)

< b.num[i])

> b.num[i])
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return false;

int main ()

{

string s;
int i;

hugeint target, left, middle, right;

cin >> s;

memset (target.num, 0, sizeof (target.num));

target.len = s.length();
for(i = 1; i <= target.len; i++)

target.num[i] = s[target.len - 1]

memset (left.num, 0, sizeof(left.num));

left.len = 1;
left.num([1l] = 1;
right = target;
do
{
middle = average (left, right);
if (over ( ))
right = middle;

else
left = middle;

} while (!over (plustwo (left), right));

for(i = left.len; 1 >= 1; i--)
cout << left.numl[i];
cout << endl;

return 0;
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(i DUR SR T RIS AT — S50 (0 5%, S I A & 5 € A ENLERE,,

A LB ER R HE)

1.

2.

Mcin>>b[i][j] (B scanf ("3d", &b[i] [§]18L scanf ("%d", b[i] + j))
@ml - m2 + 1

@good = true (B good = 1)

®m2

BhaveaAns = true (8% haveAns = 1)

()ans.num[i + 3 - 1]

®@ans.num[i] %= 10 (8% ans.num[i] = ans.num[i] % 10)
®a.num[i] + b.num[i]

@ans.num[i] % 2 (B ans.num[i] & 1)

®ans.len++ (B ++ans.len i ans.len +=1 8 ans.len = ans.len + 1)
®a.len<b.len

@ o' (B 48)

times (middle, middle), target
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